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CIRCUIT ANALYSIS
frutRa a0g : diF =) | - [3afereae 37 : 70
Time allowed : Three Hours| [Maximum Marks : 70
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Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(ii)  TR% 39T GH ST ) FHAR TF G §T B |

Solve all parts of a question consecutively together.

(iii) e X F 73 98 8 IR Ffrd |

Start each question on fresh page.

(iv) @ e B s 813 @1 Rl 7 s g @ A |

Only English version is valid in case of difference in both the languages.

I () et T T T () ST S e S S |
Draw the network configuration of symmetrical & asymmetrical pie-secuon.
Giy i T i st iR |
Define final value theorem.
(iii) A9 9 9 HI IerE Wea rontid i |
Define Mesh & Loop with example.
(iv) Ww%mwﬁﬁﬁ-mﬁmw |
Define the Image-impedance for two port network.
(v) o SEFTE T WIS TG H gfoTid Hif |

Define the series & parallel resonance. : (2%5)

(10f4) PRI i 8
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Using soutce conversion technique, find the load current I; (3-ohm) in the circuit
of fig-2(i). !
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IR¥
6V g R0 ooy R,=3Q
| -2 (i) / Fig-2 (i)
(ii) Free Fveryor faftr ) 9 7 f-2 (i) % afoy ¥ g e diees 9 e

TefieRTor ST <RI |

Use nodal analysis method to determine the nodal voltages & nodal equation for
the given circuit. fig-2(ii).

-2 (i) / Fig-2 (ii)

(6x2)

fire1 3 ST ST T HIH -
Find the Laplace transform of
(a) HHEHTH Beid
Integral of function
(b) 9w
RAMP function
(c) SAMEhIA Bed
Sinusoidal function (4x3)
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4. (i) = wfoem oo e wa S
Find the inverse Laplace transformation of -
282 +5s5+2
(s+1)°
(i) Te=-4 (i) o feman mn ufy wrey § v ey 4 R | 9w e & feufa 1 3 wa
¥ afuy oy 1 fRR gen W v et B, 7@ fea ot ¢ = 0w fRafy 2" w femn

e 2:nt
di(07) o 9O 7 o1 e |

3052

F(S) =

AT 2 99 i(0™),

Circuit shown in fig.-4(ii), is'initially in zero state. When the current through the
circuit reaches a steady state value the switch is in position 1. The switch through

ot 2.0t
to position 2, at t = 0 determine the value of i(O"”).d!(d(i ) and 4 l((,) ) :
de”
40V|+ ' l 20 Q
-4 e AAAA
2
I'H £ ) nF
-4 (ii) / Fig-4 (ii) (6x2)

5. () fRmRE-s (i) %oy o am T 1 e 7 Hife |

Find the current “I” in the given circuit of fig.-5(i).
3 €2 oy I
awww— | :
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6.
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Find the current “I”” in the given circuit fig-5(ii).
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R3-5 (ii) / Fig-5 (ii)

1

rferRaa Tet i et o wed H awened |(FE Q)

Explain the following terms with respect to two port network (Do any two).

(a) 39 g Y IIIY J=
Open & short circuit parameters
) ‘Z'a‘Y wrEEl % o o g
Relationship between ‘Z’ and *Y’ parameters.

(c) wiafera 3 srfirereror sfqenan

Image & characteristic impedance.

Prferfiga el H) e  doi T
Define the following terms with respect to resonance :
(a) AAvft 3G
Series resonance
(b) wifersmen a1 & 3G feafa
Reactance curves & resonance condition
(c) uhuYyqFHeld NG
Circuit & phasor diagram

e i & Pl @ o we f fopoft ffed -
Write the short notes on any twe of the following :
(i) et HTEAT
Network configuration
(i) R k-¥R 9 m-ge fheet
Constant -k & m-derived filter
(iii) HeEfe fheet

Composite filter
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